
(a, b) is the open interval from x=a to x=b, 
this interval does NOT include the points a 
and b.

[a, b] is the closed interval from x=a to x=b, 
this interval DOES include the points a and 
b.

(a, b] and [a, b) are the CLOPEN (aka half 
open or half closed) interval containing one, 
but not both of the endpoints. 

yes Maceo, clopen 
is a word

±∞ can be considered both open and 
closed

Intervals



Infinite Discontinuity (a.k.a. vertical 
asymptote, a.k.a non removable 
discontinuity) ­ a denominator that cannot be 
reduced. the limit is infinite as x 

approaches c

Point Discontinuity (a.k.a. hole, a.k.a. 
removable discontinuity) ­ a denominator 
that can be reduced.

the limit exists but 
does not equal f(c)

Jump Discontinuity ­ usually a piecewise 
function located at the boundary point.

the limit from the left 
and right do not agree

Types of Discontinuities 
revisited with calculus



Types of Continuity
Continuity at a point ­ a function f is 
continuous at a point, x=c,  if the following 
THREE conditions are met:

Continuity on an open interval ­ a function is 
continuous on an open interval (a, b) if the 
function is continuous at every point in the 
interval.

Left Continuous ­ 

Right Continuous ­ 

eliminating infinite

eliminating jump and 
oscillating

eliminates point

1. 

2. 

3. 



Ex 1) Describe the type of discontinuities using 
limits.

Its called a REMOVABLE discontinuity 
because we can REMOVE the discontinuity. 
e.g.

5 Limits and Continuity



Ex 2) Describe the discontinuities using limits





Ex 3) Find the value of a that would make the 
function continuous.





Ex 4) Describe the continuity and discontinuity 
of the graph



Ex 5) Determine if the function is continuous at 
the boundary point.









Example 1) Is any real number 
exactly 1 less than its cube?





Example 2) Let f(x) be continuous 
on [­5, ­2] with some of the values 
shown on the following table:

If f(x)=­1 has no solutions on the 
interval [­5, ­2], which of the 
following are possible values for 
a?

­4 ­3 0

x ­5 ­4 ­2
f(x) ­11 a ­3



Example 3) Use the intermediate 
value theorem to show that the 
polynomial has a zero in the 
interval [0, 1].



Example 4)



Example 5)



Example 6) Verify that the 
intermediate value theorem 
applies, then find the value of c 
guaranteed by the theorem.

f is continuous because f is a polynomial, 
also f(3)<0<f(0) so by the intermediate 
value theorem there exists a value c in [0, 
3] such that f(c)=0.



Example 7) Verify that the 
intermediate value theorem 
applies, then find the value of c 
guaranteed by the theorem.



Example 8) Show               has a 
solution.

The domain of ln is all posive x values, so the funcon is connuous for all x>0. 
Since ex is ALWAYS posive, we only need to consider ln(x) which changes from 
negave values to posive values at x=1.

f is continuous on (0,∞) and f(0+)<0<f(1) by 
the intermediate value theorem there 
exists a value c in [0,1] such that f(c)=0. 
Therefore there is a solution to the 
equation above.
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